FR21FEMEFRICENTRITSNE

BEEOMITRRFICONT

Hi-BAH
EELTH APENEERRABEERELS
EEREEAL X8
HEERD=HD 3,365 5 H
Al BEroosnftresE | s
CERRAZETG.) | (EroDXRfTRESRE) @3588H M)
GE RN A 58) (TEAH)
TR EERERTH
B| I2B1H3A0EENES 11,8318 5 H
(A=C)
c| TR FEHE 1,5348 5 H
TAMLBEORT | o e s
E P maataal FRBEEICHNT. IBREATE.
($047 FLIALE) 1,756 8 A H
F SERARSERRASEICONT
3 plr S5 3 A Eﬁﬁﬁgﬁ EFE“R/\
#E A AERIRL T R T fE
I ESEPILY. ARRIED
EH- EHIE
5 st 0EHM oM
EE
B - Hh A 1
ZOibEE
BT HEAE(C)D
TR R LA 0B H
BHITEHEEC)D
R T M 1458 5 H
BT EHEE(C)D
TR LA 2698 5 H
BT EHEE(C)D
FAR224EE T M AT 11208 45H




D ¥THEAEE(CODAER TR22FESH

B[

XA =Y XHE®M X H%E X HAFE
9A fEE= ggiﬁw%&fé%ﬁﬁﬂw 25,625,000/ A R
68 wWeEhe %Eg%g;;;’ I8 32815000|(1118) RE O
68 e %ﬁgﬁ;ﬁ;g;’ IR 405000 () F TR
68 e %ﬁ?ﬁ;ﬁ;;&” “U5=E|  365000|(NPO) %2
78 e %ﬁ%ﬁﬁ%&" 7B 16205000|(it1E) - BS
78 wES %ﬁgﬁg;;&” “77=E|  20501,000|(3t18) BEDY
78 e %ﬁgﬁg;;&” OB p0488000|(t1E) EEES
78 e %ﬁgﬁg;g;’ “I5=E| 41206000 (E) =a=anER
: wES f%ﬁm%;g;) “7TE §300,000|(#) 2Tl
78 e %ggﬁ%g;;u 778 510000 () 11
8A e %ﬁ%ﬁ;};;gﬁ) “IT=E| 51 684000| (i) EH2
8 wES B s 77 %| 23919000 (1118) Kl %
9A & %g%ﬁ;};;géu e 49,973,000 (E) EFH =
128 fHE= %g%ﬁ;;g) e 2,268,000 (B) VFHY
128 fHE= %ﬁg’ﬁ;ﬁ;;;'} VIR 3,325,000( (#%) b2
128 W %ﬁg’ﬁgggéu ~I5—E 1,950,000 %ﬁg’ﬁ’f*ﬂ#
128 e %ﬁgﬁ;ﬁ;;ﬁj ~I5—E 854,000( (%) fERKE
1R fEE= ggiﬁw%&fé%ﬁ#ﬁw 17,064,000(F ;&
2A HEE %Eg%g;;;u I8 26,169,000| (#t18) EHBE =
3R e %Eg%g;;;’ “I7=E|  35500000| (it TR
38 wEe féﬁ?ﬁ;ﬁ%’ “I77E| 932000 é;ﬁﬁ)ﬂ/ $IR—I
3R wH2 %EEH%;;;) U= 4sa7.000| () FATILL—
4H e NEEBRORBERTIN| 36550 000| sz

KEX




IrEE R D R B R

5A BN E e 26,250,000| 77 A

58 IS TESRORBEREAH 7500 000|E3tr

58 wee gﬁiﬁw%%gﬁﬁﬂm 62,500,000| 3 7T 7T

58 BES ggiﬁm%%gﬁﬁﬂm 26.250,000| 4 &2 4

5A HBE ggiﬁo)%%gﬁﬁﬂm 572,211,000 X2

5H fHEE ggiﬁms&%gfﬁﬁﬂm 26,250,000| Al FF T

5A fHE= ;Eiﬂ%@?&%&{ﬁﬁﬂm 43,750,000| £ & = HT™

5A fHE® ;Eiﬁ@?&fé%{ﬁﬁﬂm 52,500,000|F{&

5H HEE %Eg’ﬁ;%;;;” ~I5—E 15,728,000( (t148) EEF ML =
58 e %ﬁgﬁ;ﬁ;;ﬁj IR 9245000 (1t ELE
5H fEE= %ﬁgﬁ;ﬁ;;;” ~I5—E 16,120,000 (t118) £E L
58 e %Eg%g;;;’ U7 g31000| (it EES
58 wEe féﬁ?ﬁ;ﬁ%’ “I77E|  0891000|(it1E) mAES
58 wEe %ﬁgﬁ;ﬁ;;;) “I77E| 3730000|(E) HES

58 wWeEhe %ﬁ%ﬁ;;&” IR 6,692,000 (ﬁ)ﬁ?fwxv“-‘@»
58 wEe %ﬁ?ﬁ;ﬁ;;&” P78 ;565000 éﬁ)E’ VTR
58 e %ﬁgﬁg;;;’ “I7=E|  438000| (4 1558

57 wES %ﬁgﬁg;g;’ “P=E| ;350000 K5

58 wEe %ﬁ%g;;ﬁj 758 | gss000|mmEH

57 wES %ﬁgﬁ%gg@ “I7=E| 49000|mEH

57 wES BEmBDRTVVIT—E| , 002,000| B AT

BRI RER




